The probability that a lab specimen contains high levels of contamination is 0.10. Five samples are checked, and the samples are independent.

(a) What is the probability that none contains high levels of contamination?

(b) What is the probability that exactly one contains high levels of contamination?

(c) What is the probability that at least one contains high levels of contamination?
SOLUTION

It is useful to work one of these exercises with care to illustrate the laws of probability. Let Hi denote the event that the its sample contains high levels of contamination 
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